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Question 12, p. 12:  

The question should read as follows: 

 

12. When using the method of symmetrical components, which of the following statements are most nearly 

correct? 

 

 Select all that apply. 

 

□ A. The three positive-sequence voltage phasors are equal in magnitude and displaced by 120°. 

□ B. The three negative-sequence voltage phasors are equal in magnitude and displaced by 120°. 

□ C. The three zero-sequence voltage phasors are equal in magnitude and displaced by 120°. 

□ D. The set of positive-sequence voltage phasors and set of negative-sequence voltage phasors 

 have opposite phase rotation. 

□ E. The magnitude of the Phase A positive-sequence voltage phasor is equal to the  magnitude of 

 the Phase A negative-sequence voltage phasor. 

 

Question 78, p. 45:  

The figure should be shown as follows: 
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Question 129, p. 21:  

The third sentence of Question 129 should read as follows: 

 

Feeder F1 consists of three 500-kcmil THWN-2 copper phase conductors and a neutral in a steel 

conduit that runs a distance of 250 feet. 

 

 

Question 526, p. 45:  

Question 526 should read as follows: 

 

Each time a piece of equipment fails, it takes 12 hours to repair and return it to service. In order to 

have the equipment available at least 99.5% of the time, the maximum mean time to failures 

(MTTF) of the equipment (hours) is most nearly: 

 

(A) 2,388 

(B) 4,000 

(C) 4,391 

(D) 8,748 

 


